585D

- Open Frame Bench Setup, 1N JSC,0 0'S5De populated
~ Apply external load to 5W0_SS0 wia dist boad slots 0-3 & 8-11
s/ 2R UT6 sequencer FW 5VO_ANODE OV Fault= 20%©"

SENZE - ADJ

JEC1 COMP

14SCO sin 2R Prota P1, JSC1 s/n M Proto P1

U69-5 ADJ

Rework Kehan 55D ECE
Mod: R1378=R366=15K
U634 VDD = 12v0_SSD
External Load on 5V0_SS0 = 16A

RE64=49:

9-Ohme, CRI
C1689=C1699=100pF

U69-6 EAD 1
1 1 ] 1 | T 1 L 1 ] .
1.0V/idiv 1m0 By:20.0M 100mV 10.0us 25.5ms 25.6ms m J240mv ] 5.0ms/div 10.0MS/s 100ns/pt
B 300mv/div iMQ By:20.0M €27 300mV 10.0ps  25.5ms 25.6ms Preview Single Seq 1
T 1.0Vidiv 1m0 By:20.0m T 100mV 10.0ps  25.5ms 25.6ms 1 acgs RL:500k
& 1.0V/div 1MQ By:20.0Mm 7T 100mV  10.0us 25.5ms 25.6ms Auto  October 30, 2012 10:02:59
Value Mean Min Max St Dev Count Info |536.!im\' & 25.52ms
Max 3.055V  [3.0553125 [3.055 3.055 0.0 1.0 &7D|510.2mv & 25.521ms
Max 1.482V 1.4820001 [1.482 1.482 0.0 1.0 |-Ta,4mv 1.3ps
@ Max 5.2V 51998438 |5.2 5.2 0.0 1.0 T [se760kvis | €D 769.231kHz
@ Max [s.350v  |5.3500625 [5.359 |5.359 0.0 1.0
5V0_S5D_SENSE - ADJ | 5VO0_SED_SENSE| ADJ COMP EAD
Cursor a 7] 46.72mV 5092V 5045V 971 16mV | 586.6mV
Cursor b V2 135.16mV 5.065W 493V 1.232V | s10.2mVv
delta-V 71-v2 88.44mV -26.4mV -114.83mV | 2604mV [ 7e.amy
R347 = 24.9-Ohms problem

eqn 1: 1-ADJI = (5V0_S8D_SENSE - ADIVR47

eqn 2: [-adj =

Cursor a eqn 1: I-ADJ =46 72m V24 9-Chms = 1. 38ma

EA0{500-Ohms

How can ADT move so much so fast? IF EAOC is perturbing down, then ATT should perturb up,

not down. The amplitnde of the response is also out of ine. This doesn't make sense. TTCC3%002

is not acting as it should.

eqn 2 [-ADJ] = 586.6mWV/500 = 1.1 7maA

Cursor b: eqn 1: I-ADJ = 135 16mV/24.9-Ohms = 5.43ma
egn 2: [-ADT = 510, 2mWV/500 = 1.02mé

1-4DJ is not responding as expected as function of EAO




